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Uv -0.33 -0.15 -0.34 0.04 -0.08 0.01] 0.00 0.07 -0.31 0.03 0.10 0.06 0.12




a2t 11~18Al A& [ 10Al Ol&, 18Al OIF Xz
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O3 1.00 1.00
NO., |-0.09 1.00 -0.29 1.00
NO |-0.69 0.37 1.00 -0.53 0.47 1.00
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NO., |-0.11 1.00 -0.18 1.00
NO |-0.51 0.47 1.00 -0.44 0.32 1.00
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d71egd=2

o] A

@ FAF
O 09 NO, 9] /}}Iﬁﬁ]?—‘:— AlZbe] 0222 HE(-0.74)ET}t a1, ¥ A
HE 0622 HY(0.05)% 48] =2 4A4S 1Y
O CO & NO; 9t ¥ AZtel 0722 %2 84S Hola, ¥ AlZtel=x 0.70
o078 EL& FFS FAY
O SO,= CO, PMppHe] A#AF7F 0.59~0.660.2 HIEH =& 439,
O 5= O I ¥ AI7bo] 07002 &1, F52 =3 7 A7t 0.M42 =&
ANBATE YR
11~18Al X2 11Al O|&, 18Al OIZE X2
Correlations
03 | NO2 | NO | NOX | SO2  CO |PM10| O3 NO2 NO NOX | SO2 CcO | PM10
O3 1.00 1.00
NO» -0.22 1.00 -0.62 1.00
NO -0.58 0.74 1.00 -0.50 0.52 1.00
NOx -0.31 0.99 0.83 1.00 -0.65 0.93 0.80 1.00
SO» 0.50 0.48 0.07 0.41 1.00 -0.10 0.60 0.26 0.54 1.00
CcO -0.08 0.72 0.47 0.70 0.59 1.00 -0.50 0.70 0.52 0.72 0.62 1.00
PMio 0.35 0.57 0.21 052 0.66 0.57 1.00| -0.14 0.48 0.27 0.45 0.65 0.58 1.00
=5 0.52 -0.49 -0.51 -0.51 0.07 -0.39 -0.05|| 0.64 -0.53 -0.31 -0.51 -0.15 -0.39 -0.04
= 0.10 -0.09 -0.22 -0.13 0.02 -0.07 -0.07/ 0.10 -0.11 -0.05 -0.10 0.00 -0.08 0.01
2c 0.70 -0.14 -0.29 -0.18 0.28 -0.16 0.27/| 0.35 0.13 0.03 0.11 0.21 0.01 0.16
SALE -0.02 0.05 0.08 0.06 -0.09 0.00 0.12| -0.06 0.03 0.02 0.083 0.00 o0.01 0.06
uv -0.02 0.07 0.09 0.08 -0.10 0.03 0.12| -0.05 0.06 0.02 0.05 0.02 0.02 0.08
& MHE
O CO = NO; 9 ¥ A7t 0.842 =& AAAL Hola, ¥ A&
07002 =& 3 FA3L
O SO,= CO, PMpp#e] A#AF7F 0.58~0.800.2 HH =& 439,
O 5= O 7 & A7t 07002 =2 AAASFE Vel
) 11~18Al X2 11Al O|&, 18Al OIZE X2
Correlations
03 NO2 NO NOX S0O2 CO PM10| O3 NO2 NO NOX  SO2 CcCO PM10
O3 1.00 1.00
NO2 -0.22 1.00 -0.44 1.00
NO -0.56 0.73 1.00 -0.51 0.58 1.00
NOx -0.34 0.97 0.87 1.00 -0.52 0.93 0.84 1.00
SO, 0.51 0.61 0.18 0.51 1.00 0.07 0.73 0.28 0.61 1.00
CcO 0.00 0.84 0.61 0.82 0.65 1.00 -0.34 0.73 055 0.74 0.58 1.00
PMjo 0.42 0.60 0.29 0.54 0.80 0.66 1.00f 0.10 0.53 0.23 0.46 0.e6 0.61 1.00
=5 0.37 -0.54 -0.45 -0.54 -0.13 —-0.44 —-0.11 0.583 -0.46 -0.22 -0.41 -0.18 -0.40 -0.09
= -0.59 0.23 0.29 0.26 -0.19 0.11 -0.27| -0.41 -0.13 0.04 -0.07 -0.22 0.05 -0.16
25 0.70 0.00 -0.20 -0.07 0.46 0.12 0.48]| 0.46 0.16 -0.01 0.10 0.36 0.05 0.31
QIALEF 0.50 -0.22 -0.19 -0.22 0.17 -0.06 0.23] 0.00 0.10 0.24 0.18 0.10 0.16 0.14
uv 0.44 -0.34 -0.25 -0.33 0.02 -0.17 0.08 0.02 -0.01 0.16 0.08 0.01 0.06 0.05




@r‘%%

O 28 §52 05 3 ¥ ARkl 742 072, 0712 =4 Yeistoy i A7t

. 11~18Al A& 11Al OI&®, 18Al O|FXZ
Correlations
NO2 NO NOX SO2 CO PM10| O3 NO2 NO NOX SO2 CcO PM10
Os 1.00 1.00
NO2 -0.26 1.00 -0.56 1.00
NO -0.46 0.64 1.00 -0.50 0.55 1.00
NOx -0.34 0.97 0.80 1.00 -0.60 0.92 0.83 1.00
SO, 0.28 0.65 0.38 0.62 1.00 -0.21 0.59 0.45 0.60 1.00
CO 0.01 0.46 0.30 0.45 0.41 1.00 -0.30 0.45 0.34 0.46 0.30 1.00

PMio 0.583 0.28 -0.04 0.20 0.61 0.06 1.00| -0.15 0.70 0.27 0.61 0.52 0.40 1.00
=5 0.49 -0.34 -0.35 -0.37 -0.07 -0.18 0.27| 0.78 -0.46 -0.34 -0.46 -0.14 -0.23 -0.16
== -0.71 0.20 0.24 0.23 -0.24 0.24 -0.53|| -0.45 -0.22 -0.01 -0.15 -0.26 0.14 -0.46
=25 0.72 0.00 -0.13 -0.04 0.42 -0.09 0.55| 0.50 0.13 -0.01 0.08 0.29 -0.02 0.40
AL 0.48 -0.27 -0.13 -0.26 0.08 -0.15 0.23| 0.07 0.05 0.15 0.12 0.13 0.06 0.29

UV 0.39 -0.35 -0.16 ~0.33 -0.04 -0.18 0.12] 0.23 0.1 0.14 014 017 0.02 0.39
& =
O O NO9| &A= & A tE 9 A 7to] -0.662 =4 YUEd

O O3 9 Aol &, 259 747 068, 0672 ¥ FAAFE
=

oAl S5 7 w2 484 0728 YERY.

11~18Al Xt& 11Al OI&, 18Al OIFEXZE
Correlations
03 NO2 NO NOX S0O2 CO PM10| O3 NO2 NO NOX SO2 CO
O3 1.00 1.00
NO> -0.03 1.00 -0.65 1.00
NO -0.43 0.59 1.00 -0.44 0.53 1.00
NOx -0.13 0.98 0.74 1.00 -0.64 0.91 0.84 1.00
SO» 0.13 0.64 0.32 0.61 1.00 -0.20 0.50 0.19 0.41 1.00
CO 0.14 0.37 0.12 0.33 0.06 1.00 -0.35 0.50 0.34 049 0.20 1.00

PMio 0.61 0.39 0.08 0.33 0.37 0.18 1.00| -0.22 0.66 0.38 0.62 0.40 0.37
=25 0.35 -0.43 -0.37 -0.45 -0.30 -0.15 0.01] 0.72 -0.57 -0.34 -0.54 -0.18 -0.18
= -0.68 0.14 0.28 0.19 -0.17 0.13 -0.50| -0.54 0.00 0.04 0.02 -0.10 0.24
=5 0.67 -0.04 -0.23 -0.09 0.22 -0.01 0.55| 0.51 -0.06 -0.08 -0.07 0.13 -0.06
LALE 0.39 -0.31 -0.22 -0.31 0.04 -0.22 0.23] 0.04 0.0t 0.10 0.06 0.09 -0.07
uv 0.28 -0.39 -0.22 -0.38 -0.05 -0.20 0.11] 0.18 0.03 0.09 0.07 0.13 -0.10

PM10

1.00
-0.29
-0.26

0.18

0.30

0.31




3. W7l =& AL +9 23 (ZAA : dvldf)

7F. 29 &
O ZAF7]1ZF 2 20099 5€ 11 ~ 20‘3%__1(5‘3%-_J
O ZARA « F9A] AT 2424, vpaA] B9% 22070 %)

O =A% 7178

= Jl 2(7t) &S T (%) Z=(m/s) 2 4=2(mm)
5&€ 11 20.4 70.5 2.9 -

5& 13 19.3 58.1 2.8 -

5& 14 19.4 33.5 2.2 -

5& 18 18.2 48.3 2.0 -

5& 19¢ 21.0 48.3 1.6 -

58 & 19.1 61.4 2.0 171.0
dE =E 18.1 65.6 2.1 150.5

- A4 oiHl A &5 24 Pb 0.0386ug/m’, Cd 0.0008ug/m', Cr 0.0684 pg/m’,
Cu 0.0369 pg/m’, Mn 0.1546 ug/m’, Fe 2.4363 pg/m', Ni 0.0159ug/ m'
¥ A7 A FEA F v= 0 B47]F 05ue/m'S 7.7%
ANBAAZL F FF9 9023 5/12, 5/15~17)°] Ao 7Y =
Ao Fa5& sx7F 9 Uehg el &

¢ 3% FAEE ZAARE BAHEAS  FAAY, 2UF FYAY)

- WAEel B B B% 98
- BBl o B 3%

Cr 0.0684 pg/m', Cu 0.0369 ug/m’, Mn 0.1546 ug/m’, Fe 2.4363 ug/m’, Ni
0.0159ug/ m’

@® 597 27) SAANA B4 TSP T35 T ATASFE 2, TSP
= Pb¥} 7HE =& ABASF 0935 YERAS T Cde TSP Pbio] 4+



A7 0.79, 09002 =& AFAHS 1)

@ O X937} vHal A] FAgo] AHor =W Cr, Fe, Ni2 A2 A &40
0.64~084Z =4 UelyE=Z trjedE2d Y 84S 3 ZAAE=E
ALEE 5 S

® F=9&E Yo 2 A9 vauygrt
- B 24 e B We ol &5 Cr, Fe, Ni
- AL 22 Y] TR HYY 5 - Cd, Cu

<E36> H8E 32 ZANEN HEsT(we/m')

2 =2 TSP Pb Cd Cr Cu Mn Fe Ni

BHIE - 0.5 - - - - - -
11 69 0.0257 0.0003 0.0733 0.0226 0.1106 1.8989 0.0184
134 85 0.0359 0.0007 0.0636 0.0349 0.1019 1.7937 0.0148
14 80 0.0277 0.0007 0.0653 0.0451 0.2005 2.7564 0.0187
184 84 0.0351 0.0004 0.0704 0.0340 0.1485 2.6802 0.0165
19 115 0.0683 0.0017 0.0695 0.0480 0.2114 3.0021 0.0110
Ha 87 0.0386 0.0008 0.0684 0.0369 0.1546 2.4263 0.0159
= CH 115 0.0683 0.0017 0.0733 0.0480 0.2114 3.0021 0.0187
= A 69 0.0257 0.0003 0.0636 0.0226 0.1019 1.7937 0.0110
20084 48 HH 125 0.1394 0.0034 0.0687 0.0592 0.2114 3.0854 0.0183
2008¢ 38 HH 61 0.0338 0.0013 0.0481 0.0513 0.1344 1.7826 0.0191

<Ea7> 58 XdY =32& XA E(rg/m')

2= TSP Pb Cd Cr Cu Mn Fe Ni
HAS-1(11g) 64 0.0185 | 0.0000 | 0.0515 | 0.0112 | 0.0635 | 0.8337 | 0.0005
HAS-2(132) 78 0.0402 | 0.0010 | 0.0534 | 0.0194 | 0.0899 1.3523 | 0.0065
HAS-3(142) 79 0.0300 | 0.0007 | 0.0569 | 0.0385 | 0.1724 | 2.2742 | 0.0123
HANS-4(18Y) 85 0.0395 | 0.0008 | 0.0584 | 0.0324 | 0.1474 | 2.3831 0.0162
HANS-5(192) 114 0.0644 | 0.0013 | 0.0650 | 0.0438 | 0.1968 | 2.6957 | 0.0096
24=-1(11¢) 74 0.0330 | 0.0006 | 0.0952 | 0.0341 0.1577 | 2.9641 0.0363
S24=-2(13Y) 91 0.0317 | 0.0005 | 0.0737 | 0.0505 | 0.1140 | 2.2352 | 0.0231
24=-3(14¢) 80 0.0255 | 0.0007 | 0.0737 | 0.0516 | 0.2285 | 3.2387 | 0.0250
24=-4(18Y) 84 0.0306 | 0.0000 | 0.0825 | 0.0356 | 0.1496 | 2.9772 | 0.0167
24=-5(19¢) 116 0.0723 | 0.0021 0.0740 | 0.0522 | 0.2260 | 3.3084 | 0.0123
HANSHA 84 0.0385 | 0.0008 | 0.0571 0.0291 0.1340 1.9078 | 0.0090
sSUsHA 89 0.0386 | 0.0008 | 0.0798 | 0.0448 | 0.1752 | 2.9447 | 0.0227




Correlations|| TSP Pb Cd Cr Cu Mn Fe Ni
TSP 1
Pb 0.93 1.00
Cd 0.79 0.90 1.00
Cr 0.14 0.06 -0.05 1.00
Cu 0.67 0.43 0.48 0.49 1.00
Mn 0.62 0.53 0.60 0.41 0.81 1.00
Fe 0.54 0.42 0.39 0.74 0.83 0.89 1.00
Ni -0.08 -0.16 -0.11 0.84 0.50 0.37 0.64 1.00

i8> 58 FQ A 82 WIS 335 Sklueg/m')

7 = TSP Pb Cd Cr Cu Mn Fe Ni

2 &g 87 0.0386 | 0.0008 0.0684 0.0369 0.1546 | 2.4263 | 0.0159
£ &t - 0.0357 | 0.0008 0.0431 0.0570 0.0948  2.2085 0.0124
CH - 107 0.0341 | 0.0018 0.0066 0.1186 0.0533 1.2792 | 0.0067
= O 122 0.1454 | 0.0085 0.0164 0.0946 0.1690 1.4255 | 0.0159




